The Effect of Temperature and Acidity on Antimicrobial Activities of Pristine MWCNTs and MWCNTs-Arg

Hadi Zare-Zardini^{1,2}, Mehdi Shanbedi³, Hossein Soltaninejad⁴, Masoomeh Mohammadzadeh⁵, Ahmad Amiri^{6,*}, Amir Ali Hamidieh⁷, Farzad Ferdosian⁸, Ashraf Alemi⁹, Saman Hosseinkhani^{4,*}, Farzaneh Fesahat¹⁰ and Akram Astani¹¹

¹Hematology and Oncology Research Center, Shahid Sadoughi Hospital, Shahid Sadoughi University of Medical Sciences and Health Services, Yazd, Iran. ²Farhangian University at Esfahan, Esfahan, Iran.

³Department of Chemical Engineering, Faculty of Engineering, Ferdowsi University of Mashhad, Mashhad, Iran.

⁴Department of Nano Biotechnology, Faculty of Biological Sciences, Tarbiat Modares University, Tehran 14115, Iran.

⁵Department of Reproductive Biology, Yazd Reproductive Sciences Institute, Research and Clinical Center for Infertility, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

⁶Department of Mechanical Engineering, Texas A&M University, College Station, TX 77843, United States.

> ⁷Pediatric Cell Therapy Research Center, Tehran University of Medical Sciences, Tehran, Iran.

⁸Department of Pediatrics, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

⁹Abadan Faculty of Medical Sciences, Abadan, Iran.

¹⁰Reproductive Immunology Research Center, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

¹¹Department of Microbiology, Faculty of Medicine, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

(*) Corresponding authors: amiri.2227@yahoo.com & saman_h@modares.ac.ir (*Received: 15 December 2019 and Accepted: 29 April 2020*)

Abstract

Carbon nanotubes (CNTs) have very promising applications for inhibition of microbial growth. The aim of this study is investigation and comparison of the effect of temperature and acidity on antimicrobial activities of pristine Multiwalled Carbon nanotubes (MWCNTs) and Multiwalled Carbon nanotubes-Arginine (MWCNTs-Arg). Minimum Inhibitory Concentration (MIC) and Minimum Bactericidal Concentration (MBC) were calculated in range of temperature (25, 37 and 42 °C) and pH (4.2, 7.2, and 10) on Staphylococcus aureus. The results approved that pristine and functionalized MWCNTs have broad-spectrum antimicrobial activities against examined pathogen. Between these agents, MWCNTs-Arg and pristine MWCNTs and have the highest inhibitory activity on microbial growth, respectively. The MBC value of MWCNTs was improved by amino acid functionalization. The optimal pH for antimicrobial activity of pristine MWCNTs and MWCNTs-Arg are 4.2 and 7.2 and optimal temperatures are 42 °C and 42 °C, respectively. There is no change on optimal temperature of MWCNTs by this functionalization, but functionalization of MWCNTs by Arg enhanced its antimicrobial activity and led to change of optimal pH of MWCNTs for antimicrobial activity. This changes lead to suitable improvement of antimicrobial activity in neutral and biological pH.

Keywords: Antimicrobial, Arginine, MWCNTs, PH, Temperature.

1. INRODUCTION

Carbon nanotubes (CNTs) are one of nanostructures with good chemical properties for use in different fields of sciences [1]. CNTs are especially used as industrial and biomedical agent [2, 3]. The one of important properties of these compounds is antimicrobial activities against bacteria, viruses and fungal pathogens [4, 5]. CNTs are divided to 2 categories: single-walled nanotubes (SWNTs) and multi-walled nanotubes (MWNTs) and both categories have antimicrobial activities [6]. In between, the antimicrobial activity of SWCNTs is more than MWCNTs. The toxicity of SWCNTs is also more than MWCNTs [7]. The increase of antimicrobial activity of CNTs is important for application of these nanostructures as antimicrobial agents [8]. For use of these compounds, it's also necessary to decrease their side effects especially hemolytic activity. Functionalization of MWCNTs by different natural and synthetic compounds is the best methods for improvement of their biological properties [9, 10]. Many researchers functionalized the MWCNTs by different functional groups and investigated their chemical and biological properties. These functionalizations have good and bad effects on chemical and biological properties and activities of pristine MWCNTs [11-13]. In best proposed functionalization method, the suitable biological activities were improved and also side effects of these nanostructures such as hemolytic activity were decreased [14, 15]. The most important mechanism for biological activity of MWCNTs is physical interaction with cell membrane and inducement pore in membrane and disruption its integrity [4, 16]. So, the functionalization of MWCNTs must enhance their physical interaction with bacterial cell membranes and decrease their physical interaction with mammalian cell membranes. So, functionalization must due to selective nitration. In our previous study, we showed that the of MWCNTs functionalization with Arginine can improve their antimicrobial environ-mental activities [17]. The condition including temperature and pH, have important effects on activity of nanostructures. So, in this study, the effects of these conditions were assessed on antimicrobial activity of MWCNTs-Arg comprised and were with pristine MWCNTs.

2. EXPERIMENTAL

2.1. Functionalization of MWCNTs

The functionalization of MWCNTs with Arg was done according to our previous studies. Briefly, MWCNTs-COOH was produced by mixture of MWCNTs, HNO3, and H2SO4 and then, these agents were functionalized with Arg by industrial microwave (Milestone MicroSYNTH programmable microwave system).

2.2. Characterization of Nanostructures

powdered characterization For of MWCNT samples, Raman spectroscopy (Thermo Nicolet Almega Dispersive), and transmission electron microscopy (TEM, LEO 912 AB electron microscope) was used. Similar to previous study, the Raman Spectrometer system included an optical microscope that was used for fine locating. To avoid thermal decomposition, the laser power was adjusted as low as 30 mW. TEM samples were also prepared by suspending the MWCNTs in ethanol and dropping the suspension on a carboncoated copper grid.

2.3. Bacterial Strains

In this study, one-gram positive bacteria (Staphylococcus aureus) were used. This bacterium was antibiotic resistant strain isolated from clinical specimens in Shahid Sadoughi hospital, Yazd, Iran.

2.4. Antibacterial Susceptibility Test

The minimal Inhibitory Concentration (MIC) was assessed for each nanostructure in this study. This value was acquired according to our previous studies. The

serial dilution of any nanostructure was prepared. These concentrations of nanostructures were added to solutions containing 106 CFU/ml of bacterium (Staphylococcus aureus) and then, they were poured into wells of microplate.

The final concentrations that used for evaluation MIC were: 5, 10, 20, 40, 60, 100, 200, 300, 400 and 500 µg/ml. the plate was incubated at 37 °C. After 18 hours, the absorbance for each well was read at 630 nm using an enzyme-linked immunosorbent assay (ELISA) reader and the results were compared with control samples. The MIC was defined the minimum sample concentration that bacterium has no growth in it. For calculation of MBC. all bacteria were incubated with serial different concentration of nanostructures. After 24 hour, 100µl of bacterium solution were cultivated on nutrient agar and then, plates were incubated for 48 hour at 37°C. The decrease of bacterial growth was comprised with control. In MBC calculation, 30 µL of bacteria suspension (first well of microplate that showed no bacteria growth) was inoculated on to agar plate and then, was incubated for an additional 24 h at 37 °C. The MBC is defined as the lowest concentration of antimicrobial that will prevent the growth of an organism after subculture on to antibiotic free media. In this section, the standard I nutrient broth and nutrient agar media (Merck company) were used.

2.5. Effects of pH on Antimicrobial Activity Antibacterial susceptibility test

The effect of pH on antimicrobial activity of nanostructures was investigated by using different culture media with different pH (4.2, 7.2, and 10). All bacteria were treated with same concentration of pristine MWCNTs, Ag nanoparticles and Ag-MWCNTs. After 24-hour incubation, the absorbance for each well was read at 630 nm using an enzyme-linked immune-sorbent assay (ELISA) reader and the

results were compared with control samples and growth curves was drawn.

2.6. Effects of Temperature on Antimicrobial Activity Antibacterial susceptibility test

For assessment of temperature effect, treated with bacteria were same concentration of pristine MWCNTs, Ag Ag-MWCNTs nanoparticles and at different temperatures (20, 37 and 42 °C). After 24-hour incubation, the absorbance for each well was read at 630 nm using an enzyme-linked immunosorbent assay (ELISA) reader and the results were compared with control samples and growth curves was drawn.

3. RESULTS

3.1. Characterization Results

The FTIR, and Raman results of pristine and Arg-functionalized MWCNT are shown in Figure 1. From FTIR spectra in Figure 1a, in contrast with pristine MWCNTs, the treated MWCNT samples showed clear evidence of the desired functionalities. The detailed list of peaks and their assigned groups are provided in Table 1. It was observed that the carboxyl groups had peaks that were considerably sharper than the peaks of other groups. It is speculated that these sharp peaks resulted from the oxidation step by nitric acid or from the lysine and arginine groups that were attached to the surfaces of the MWCNTs. The N-H groups that were observed on the functionalized samples could indicate that amidation reactions occurred between the amino groups of arginine/lysine and the carboxyl groups on the surfaces of the MWCNTs.

Figure 1b shows the Raman spectra of pristine and Arg-functionalized MWCNT. The Raman spectra of both pristine and functionalized MWCNTs display the D and G bands at 1351 and 1588 cm^{-1} . respectively. The intensity ratio of these bands (ID/IG) is the ratio of amorphous/disordered carbon (sp³) relative graphitic carbon (sp^2) . In the to

functionalization studies, a higher I_D/I_G indicates a greater extent of C=C rupture, implying higher covalent functionalization on the surfaces of the CNTs. As could be seen, I_D/I_G of the MWCNTs-Arg was larger than that of pristine MWCNTs, which implies the successful functionalization of the graphitic walls of the MWCNTs.



Figure 1. The FTIR (a), and Raman (b) results of pristine and Arg-functionalized MWCNT.

MWCNTS.						
Type of functionalized MWCNTs	Peak (cm ⁻¹)	Interpretation				
Pristine MWCNTs	2336	Stretching of CNTs backbone				
	3363	-OH Stretching vibration				
Arginine-treated MWCNTs	3100-3200	–NH stretching vibration of primary amine / Symmetrical –NH stretching vibration (Amide bond)				
	2851	-C-H stretching vibration				
	1679	-C=O stretching vibration (amide bond)				
	1615	-C=O stretching vibration				
	1572	–NH bending vibration of primary amine				
	1465	-CH ₂ bending vibration				
	1330	-C-N stretching vibration (amide bond)				
-	1142	C–O stretching vibration				

Table 1. Fourier transform infrared interpretation of the pristine and functionalizedMWCNTs.

3.2. Antibacterial Susceptibility Test

The results of determination of MIC and MBC were summarized in Table 2. From Table 2, the MIC value for pristine MWCNTs was 14.8 μ g/mL against *S. aureus*. Note that this value is 6.9 μ g/mL for MWCNTs-Arg for *S. aureus*. Also, MBC for *aureus* was reported to be 31.1 and 13.5 μ g/mL for pristine MWCNTs and MWCNTs-Arg, respectively (Table 2).

3.3. The Effect of pH

The effect of pH on the antimicrobial

Table 2. Minimum inhibitory (MIC) and bactericidal (MBC) concentrations of MWCNTs and MWCNTs-Arg on S.aureus

	MIC	MBC
MWCNTs	14.8	31.1
MWCNTs-Arg	6.9	13.5

activity of pristine and functionalized MWCNTs in the presence of different concentration of nanostructures and different pH (4 to 10) was acquired.

According to the growth curves, both bacteria can grow in all pH except 3.5. So, for investigation of pH effect, the all tests were done in three different acidic, neutral and basic pH (4.2, 7.2, and 10). In order to interpretation of data obtained from different pH effect on the antimicrobial activity of MWCNTs and MWCNTs-Arg, the percentage of growth inhibition was investigated in the pH range in the presence of various concentrations of nanostructures. So, the effect of pH on antibacterial activity of nanostructures was analyzed by comparing the percent inhibition of bacterial growth in different conditions. The results were summarized in Table 3,4, and 5. Based on this table, the antimicrobial activity of **MWCNTs** increase by enhancement of pH and Vice versa, the decrease of pH to acidic situation leads to increase of antimicrobial activity of MWCNTs-Arg. The optimal pH for antimicrobial activity of MWCNTs and MWCNTs-Arg is 7.1 and 5.2, respectively.

3.4. The Effect of Temperature

The effect of temperature on the antimicrobial activity of pristine and functionalized MWCNTs in the presence of different concentration of nanostructures and different temperature (20, 37 and 42 °C) was acquired. In order to interpretation of data obtained from different temperature effect on the antimicrobial activity of **MWCNTs** and MWCNTs-Arg, the percentage of growth inhibition was investigated in the temperature range in the presence of various concentrations of nanostructures. So, the effect of temperature on antibacterial activity of nanostructures was analyzed by comparing the percent inhibition of bacterial growth in different conditions. The results were summarized in Table 3,4, and 5. Based on this table, the antimicrobial activity of MWCNTs and MWCNTs-Arg increase by enhancement of temperature. The highest antimicrobial activity of both nanostructures on two bacterial strains is 42 °C. So, the functionalization of MWCNTs by Arg don't effect on its antimicrobial activity.

Table 3. The percentage of growth
inhibition in different pH at 42 °C

Pristine MWCNTs (µg/ml)	pH		
	4.2	7.2	10
5	67	56	31
100	79	75	48
500	100	100	100
MWCNTs-Arg	pH		
5	75	89	66
100	86	94	80
500	100	100	100

Table 4. The percentage of growth inhibition in different pH at 37 °C

Pristine MWCNTs (µg/ml)	Temperature			
	4.2	7.2	10	
5	59	52	29	
100	68	61	45	
500	100	100	100	
MWCNTs-Arg	Temperature			
5	70	88	59	
100	81	93	75	
500	100	100	100	

Table 5. The percentage of growthinhibition in different pH at 25 °C

Pristine MWCNTs (µg/ml)	pH		
	4.2	7.2	10
5	50	48	22
100	60	58	40
500	100	100	100
MWCNTs-Arg		рН	
MWCNTs-Arg	70	рН 85	58
MWCNTs-Arg 5 100	70 76	рН 85 94	58 71

3.5. Response Surface Analysis

For better analysis of the effects of temperature and pH on antimicrobial activities in two examined nanostructures, Response Surface Analysis was done. We calculated mutual effects of variable by general linear model (response versus Nano, concentration, pH, and temperature) (Table 6&7). Based on table 6, all variables have significant mutual effects except nano/temperature and pH/temperature. The adjusted R-sq. for this analysis was 97.14 %. The results of Table 7 showed that the best pH for activity for MWCNTs and MWCNT-Arg was 4.2 and 10, respectively (coefficient of variation for MWCNTs=4.389 and MWCNT-Arg= 2.222). According to coefficient of

variation, the results also showed that the best temperature for activity for MWCNTs and MWCNT-Arg was 42 °C (coefficient of variation for MWCNTs=1.111 and MWCNT-Arg= 1.222).

Source	DF	Adj SS	Adj MS	F-Value	P-Value
Nano	1	3952.7	3952.67	277.15	0.000
concentration	2	15508.0	7754.00	543.69	0.000
рН	2	2262.1	1131.06	79.31	0.000
Temprature	2	364.0	182.00	12.76	0.000
Nano*concentration	2	2001.3	1000.67	70.16	0.000
Nano*pH	2	520.1	260.06	18.23	0.000
Nano*Temprature	2	49.3	24.67	1.73	0.196
concentration*pH	4	1203.2	300.81	21.09	0.000
concentration*Temprature	4	190.0	47.50	3.33	0.024
pH*Temprature	4	23.9	5.97	0.42	0.794
Error	28	399.3	14.26		
Total	53	26474.0			

Table 6. Analysis of Variance based on General Linear Model

 Table 7. Coefficient of variation based on General Linear Model: response versus Nano, concentration, pH, Temprature

		· 1 ·	1		
Term	Coef	SE Coef	T-Value	P-Value	VIF
Constant	77.000	0.514	149.83	0.000	
Nano					
MWCNT	-8.556	0.514	-16.65	0.000	1.00
MWCNT-Arg	8.556	0.514	16.65	0.000	*
Concentration					
5	-17.333	0.727	-23.85	0.000	1.33
100	-5.667	0.727	-7.80	0.000	1.33
500	23.000	0.727	31.65	0.000	*
pH					
4.2	3.056	0.727	4.20	0.000	1.33
7.2	5.944	0.727	8.18	0.000	1.33
10.0	-9.000	0.727	-12.38	0.000	*
Temprature					
25	-3.000	0.727	-4.13	0.000	1.33
37	-0.333	0.727	-0.46	0.650	1.33
42	3.333	0.727	4.59	0.000	*
Nano*Concentration					
MWCNT 5	-5.111	0.727	-7.03	0.000	1.33
MWCNT 100	-3.444	0.727	-4.74	0.000	1.33
MWCNT 500	8.556	0.727	11.77	0.000	*
MWCNT-Arg 5	5.111	0.727	7.03	0.000	*
MWCNT-Arg 100	3.444	0.727	4.74	0.000	*
MWCNT-Arg 500	-8.556	0.727	-11.77	0.000	*
Nano*pH					
MWCNT 4.2	4.389	0.727	6.04	0.000	1.33
MWCNT 7.2	-2.167	0.727	-2.98	0.006	1.33
MWCNT 10.0	-2.222	0.727	-3.06	0.005	*
MWCNT-Arg 4.2	-4.389	0.727	-6.04	0.000	*
MWCNT-Arg 7.2	2.167	0.727	2.98	0.006	*
MWCNT-Arg 10.0	2.222	0.727	3.06	0.005	*
Nano*Temprature					
MWCNT 25	-1.222	0.727	-1.68	0.104	1.33

MWCNT 37	0.111	0.727	0.15	0.880	1.33
MWCNT 42	1.111	0.727	1.53	0.138	*
MWCNT-Arg 25	1.222	0.727	1.68	0.104	*
MWCNT-Arg 37	-0.111	0.727	-0.15	0.880	*
MWCNT-Arg 42	-1.111	0.727	-1.53	0.138	*
concentration*pH					
5 4.2	2.44	1.03	2.38	0.024	1.78
5 7.2	4.06	1.03	3.95	0.000	1.78
5 10.0	-6.50	1.03	-6.32	0.000	*
100 4.2	0.61	1.03	0.59	0.557	1.78
100 7.2	1.89	1.03	1.84	0.077	1.78
100 10.0	-2.50	1.03	-2.43	0.022	*
500 4.2	-3.06	1.03	-2.97	0.006	*
500 7.2	-5.94	1.03	-5.78	0.000	*
500 10.0	9.00	1.03	8.76	0.000	*
concentration*Temprature					
5 25	-1.17	1.03	-1.14	0.266	1.78
5 37	0.17	1.03	0.16	0.872	1.78
5 42	1.00	1.03	0.97	0.339	*
100 25	-1.83	1.03	-1.78	0.085	1.78
100 37	-0.50	1.03	-0.49	0.630	1.78
100 42	2.33	1.03	2.27	0.031	*
500 25	3.00	1.03	2.92	0.007	*
500 37	0.33	1.03	0.32	0.748	*
500 42	-3.33	1.03	-3.24	0.003	*
pH*Temprature					
4.2 25	-1.06	1.03	-1.03	0.313	1.78
4.2 37	-0.06	1.03	-0.05	0.957	1.78
4.2 42	1.11	1.03	1.08	0.289	*
7.2 25	0.89	1.03	0.86	0.394	1.78
7.2 37	-0.28	1.03	-0.27	0.789	1.78
7.2 42	-0.61	1.03	-0.59	0.557	*
10.0 25	0.17	1.03	0.16	0.872	*
10.0 37	0.33	1.03	0.32	0.748	*
10.0 42	-0.50	1.03	-0.49	0.630	*

4. DISCUSSION

Annually, infectious diseases lead to more than 60, 000 death tolls in US. The big concern in this subject is development of resistant microbial strains [18]. The development of new antimicrobial agents for inhibition this resistant microbe is unavoidable [19, 20]. Carbon nanotubes have potent antimicrobial activity against different microbes (viruses, bacteria, fungi and etc.) [21, 22]. According to previous study, functionalization of CNTs can improve their different characteristics, especially biological properties. The functionalization of MWCNTs by basic amino acids increased their antimicrobial activities, especially against resistant bacterial strains [23-25]. The change of functional groups can change the activity of MWCNTs in different environmental conditions. In our previous study, we showed that functionalization of MWCNTs by Arginine improve their antimicrobial activities. In this paper, the effect of temperature and acidity on antimicrobial activities of pristine MWCNTs and MWCNTs-Arg was investigated. The antibacterial activity of MWCNTs and MWCNTs-Arg was quantitatively evaluated by determination of MIC. MWCNTs were able to inhibit 50% of bacterial growth (MIC) for examined bacterium in concentration of 14.8 µg/ml. This MIC values for MWCNTs-Arg is 6.9 µg/ml. These data were consistent with our previous study [26-28]. The MBC of nanostructures was also calculated. For this, agar dilution method was used. MBC

is the lowest concentration of an antimicrobial agent that is capable to inhibit 99% growth on the plate. The 99% inhibition for S. aureus was observed in concentrations of 31.1 and 13.5 µg/ml in presence of MWCNTs and MWCNTs-Ag, respectively. The effect of different pH and was investigated temperature on antibacterial properties of MWCNTs and MWCNTs-Arg. According to data, the optimal pH for antimicrobial activity of pristine MWCNTs and MWCNTs-Arg are 5.2 and 7.1 and optimal temperatures are 42 °C and 42 °C, respectively. The optimal pH for MWCNTs-Arg shifted to neutral pH. The increased ability of the functionalized MWCNTs to kill bacteria is related to an electrostatic interaction with the bacterial membrane [29]. The increase of proton compete with MWCNTs-Arg for electrostatic interaction with the bacterial membrane [17]. The enhancement of pH can remove this competition and so, antimicrobial enhance the activity. According to the evidence provided above, MWCNTs-Arg has cationic groups. Thus, the significantly higher adsorption of MWCNTs-Arg compared to MWCNTs would make the former a much more effective killer of the bacteria. On the other hand, this higher cationic groups lead to more pH effect on MWCNTs-Arg than MWCNTs. The shift of optimal pH to neutral pH is benefit for MWCNTs applications in biological environments. The overall effect of temperature on antimicrobial activities of MWCNTs and MWCNTs-Arg is identical for examined bacterium. The enhancement of temperature leads to increase of antimicrobial activity. So, temperature increases can boost the antimicrobial properties of the

The increase of nanostructures [30]. temperature leads to increase of MWCNTs activity due to the more transfer of electrons. The release electrons from the valence band lead to create empty space and reducing agent. These agents reduce water molecules and produce hydroxyl radicals and hydrogen ions [31]. A series of oxidation-reduction pathways occurred that resulted in the production of reactive oxygen species and lead to killing or stopping the growth of bacteria cells [32, 33]. The antibacterial assays of functionalized MWCNTs by Arginine in different pH temperature suggested that and functionalized MWCNTs have significantly greater antibacterial activity against various bacteria. This finding implied that the positively-charged cationic groups of amino acids were very effective of MWCNTs in different pH. On the other hand, the optimal pH for antimicrobial activity of MWCNTs-Arg shifts to neutral pH in comparison with MWCNTs.

5. CONCLUSION

According to acquired data from this study, the optimal pH for MWCNT and MWCNT-Arg is different, so that the optimal pH for antimicrobial activity of MWCNTs-Arg shifts to neutral pH in comparison with MWCNTs. So. by functionalization of **MWCNTs** with Arginine, the optimal pH for activity is close to neutral and biological pH in addition to increase of antimicrobial activity.

ACKNOWLEDGEMENT

This work was supported by a postdoctoral grant number: 96006120 from Iran National Science Foundation (INSF).

REFERENCES

- 1. Lashkari, B., Dehestani, M., Khosravan, A., Dehestani, M., (2017), "Investigation of Molecular Selenium Adsorption to the Outer Surface of Single Wall Carbon Nanotubes", *Int. J. Nanosci. Nanotechnol.*, 13: 129-137.
- Basir Jafari ,S., Malekfar, R., Khadem, S. E. R., (2001). "Radial Breathing Mode Frequency of Multi-Walled Carbon Nanotube Via Multiple-Elastic Thin Shell Theory", *Int. J. Nanosci. Nanotechnol.*, 7: 137-142.
- 3. Farhadian, N., (2011). "Transport of a Liquid Water-Methanol Mixture in a Single Wall Carbon Nanotube", *Int. J. Nanosci. Nanotechnol.*, 7: 173-182.

- 4. Maleki Dizaj, S., Mennati, A., Jafari, S., Khezri, K., Adibkia, K., (2015). "Antimicrobial activity of carbon-based nanoparticles", *Adv Pharm Bull*, 5: 19-23:
- 5. Al-Jumaili, A., Alancherry, S., Bazaka, K., Jacob, M. V., (2017). "Review on the Antimicrobial Properties of Carbon Nanostructures", *Materials (Basel)*, 10: 1066-1071.
- 6. Zhang, M., Li ,J., (2009). "Carbon nanotube in different shapes". Mater Today, 12: 12-18.
- Dong, L., Henderson, A., Field, C. A., (2012)"ntimicrobial Activity of Single-Walled Carbon Nanotubes Suspended in Different Surfactants", J. Nanotechnol., 2012: 1-9.
- Yu, L., Zhang, Y., Zhang, B., Liu, J., (2014). "Enhanced Antibacterial Activity of Silver Nanoparticles/Halloysite Nanotubes/Graphene Nanocomposites with Sandwich-Like Structure", *Scientific Reports*, 4: 4551-4568.
- 9. Vardharajula, S. et al., (2012). "Functionalized carbon nanotubes: biomedical applications", Int J Nanomedicine, 7: 5361-5374.
- 10. Zhang, Y., Bai, Y., Yan, B., (2010). "Functionalized carbon nanotubes for potential medicinal applications", *Drug Discov Today*, 15: 428-435.
- Soleimani, M., Ghahraman Afshar, M., Sedghi, A., (2013). "Amino-Functionalization of Multiwall Carbon Nanotubes and Its Use for Solid Phase Extraction of Mercury Ions from Fish Sample", ISRN Nanotechnology, 2013: 8-19
- 12. Avilés, F., Cauich-Rodríguez, J. V., Moo-Tah, L., May-Pat, A., Vargas-Coronado, R., (2009). "Evaluation of mild acid oxidation treatments for MWCNT functionalization", *Carbon*, 47: 2970-2975.
- 13. Tan, S. H., Goak, J. C., Lee, N., Kim, J.-Y., Hong, S. C., (2007). "Functionalization of Multi-Walled Carbon Nanotubes with Poly(2-ethyl-2-oxazoline)", *Macromolecular Symposia*, 249: 275-270.
- 14. Meng, J. *et al.*, (2012). "Effects of long and short carboxylated or aminated multiwalled carbon nanotubes on blood coagulation", *PLoS One*, 7: e38995-e38995.
- 15. Zhang, T. *et al.*, (2017). "Systemic and immunotoxicity of pristine and PEGylated multi-walled carbon nanotubes in an intravenous 28 days repeated dose toxicity study", *Int J Nanomedicine*, 12: 1539-1554.
- 16. Yu, J. *et al.*, (2016). "Comparison of Cytotoxicity and Inhibition of Membrane ABC Transporters Induced by MWCNTs with Different Length and Functional Groups", *Environ Sci Technol*, 50: 3985-3994.
- 17. Zardini, H. Z., Amiri, A., Shanbedi, M., Maghrebi, M., Baniadam, M., (2012). "Enhanced antibacterial activity of amino acids-functionalized multi walled carbon nanotubes by a simple method", *Colloid Surface B*, 92: 196-202.
- 18. Li, B., Webster, T. J., (2018). "Bacteria antibiotic resistance: New challenges and opportunities for implantassociated orthopedic infections", J. Orthop. Res., 36: 22-32.
- 19. Chokshi, A., Sifri, Z., Cennimo, D., Horng, H. "Global Contributors to Antibiotic Resistance" J. Glob. Infect Dis., 11: 36-42.
- 20. Chandler, C. I. R., (2019). "Current accounts of antimicrobial resistance: stabilisation, individualisation and antibiotics as infrastructure", *Palgrave Communications*, 5: 53-60
- 21. Al-Jumaili, A., Alancherry, S., Bazaka, K., Jacob, M. V., (2017). "Review on the antimicrobial properties of carbon nanostructures", *Materials* ,10:1066-1072
- 22. Dizaj, S. M., Mennati, A., Jafari, S., Khezri, K., Adibkia, K., (2015). "Antimicrobial activity of carbonbased nanoparticles", *Adv. Pharm. Bull.*, 5: 19-27.
- 23. Freitas, T. A., Mattos, A. B., Silva, B. V. M., Dutra, R. F., (2014). "Amino-functionalization of carbon nanotubes by using a factorial design: human cardiac troponin T immunosensing application", *Biomed. Res. Int.*, 2014: 929786.
- 24. Mallakpour, S., Zadehnazari, A., (2013). "Functionalization of multi-wall carbon nanotubes with amino acid and its influence on the properties of thiadiazol bearing poly(amide-thioester-imide) composites", *Synthetic Metals*, 169: 1–11.
- 25. Mallakpour, S., Zadehnazari, A., (2013). "Functionalization of multiwalled carbon nanotubes with S-valine amino acid and its reinforcement on amino acid-containing poly(amide-imide) bionanocomposites", *High Perform Polym.*, 25: 966-979.
- Zare-Zardini, H., Amiri, A., Shanbedi, M., Memarpoor-Yazdi, M., Asoodeh, A., (2013). "Studying of antifungal activity of functionalized multiwalled carbon nanotubes by microwave-assisted technique", *Surf. Interface Anal*, 45:751-755.
- 27. Amiri, A. *et al.*, (2012). "Efficient method for functionalization of carbon nanotubes by lysine and improved antimicrobial activity and water-dispersion", *Mater. Lett.*, 72: 153-156.
- 28. Zardini, H. Z., Amiri, A., Shanbedi, M., Maghrebi, M., Baniadam, M., (2012). "Enhanced antibacterial activity of amino acids-functionalized multi walled carbon nanotubes by a simple method", *Colloids Surf B Biointerfaces*, 92: 196-202.
- 29. Ménard-Moyon, C., Kostarelos, K., Prato, M., Bianco, A., (2010). "Functionalized Carbon Nanotubes for Probing and Modulating Molecular Functions", *Chemistry & Biology*, 17: 107-115.

- 30. Esteban, P. P. *et al.*, (2014). "Enhancement of the antimicrobial properties of bacteriophage-K via stabilization using oil-in-water nano-emulsions", *Biotechnol. Prog.*, 30: 932-944.
- Pumera, M., Sasaki, T., Iwai, H., (2008). "Relationship between Carbon Nanotube Structure and Electrochemical Behavior: Heterogeneous Electron Transfer at Electrochemically Activated Carbon Nanotubes", *Chemistry – An Asian Journal*, 3: 2046-2055.
- 32. Hsieh, H. S., Wu, R., Jafvert, C. T., (2014). "Light-independent reactive oxygen species (ROS) formation through electron transfer from carboxylated single-walled carbon nanotubes in water", *Environ Sci. Technol.*, 48: 11330-11336.
- 33. Kim, J. S., Yu, I. J., (2014). "Single-wall carbon nanotubes (SWCNT) induce cytotoxicity and genotoxicity produced by reactive oxygen species (ROS) generation in phytohemagglutinin (PHA)-stimulated male human peripheral blood lymphocytes", *J. Toxicol Environ Health A*, 77: 1141-1153.